COMPREHENSION QUESTIONS 209

Comprehension questions

PROBLEM 27.1. True or false, and why or why not? “The projective completion of f(x,y)g(z,y) =
0 is the union of the projective completion of f(x,y) =0 and that of g(x,y) =0.”

PROBLEM 27.2. How many points at infinity does x(x — 1)(z — 2)y(y — 1)(y — 2) = 1 have?

PROBLEM 27.3. As far as you know, could this picture be that of a nonsingular projective curve
of degree 47

/Q\\
/ \
\
/
OO0 M
§
- /’
\\ m /
N '



MIT OpenCourseWare
https://ocw.mit.edu

18.900 Geometry and Topology in the Plane
Spring 2023

For information about citing these materials or our Terms of Use, visit: https://ocw.mit.edu/terms.




	cover.pdf
	Blank Page




